

```
Implementation (sources: http://drorbn.net/bu23/ap). I Pretty-Printing.
like it most when the implementation matches the math perfectly.
We failed here.
Once[<< KnotTheory`];</pre>
Loading KnotTheory` version
  of February 2, 2020, 10:53:45.2097.
Read more at http://katlas.org/wiki/KnotTheory.
Utilities. The step function, algebraic numbers, canonical forms.
ω2[v_][p_] := Module[{q = Expand[p], n, c},
    If[q === 0, 0,
      c = Coefficient[q, ω, n = Exponent[q, ω]];
      c v^{n} + \omega 2 [v] [q - c (\omega + \omega^{-1})^{n}]];
sign[8_] := Module[{n, d, v, p, rs, e, k},
   {n, d} = NumeratorDenominator[8];
   {n, d} /= \omega^{\text{Exponent}[n,\omega]/2+\text{Exponent}[n,\omega,\text{Min}]/2};
   p = Factor \left[ \omega^2[v] @n * \omega^2[v] @d / . v \rightarrow 4 u^2 - 2 \right];
   rs = Solve[p == 0, u, Reals];
   If [rs === \{\}, Sign[p / . u \rightarrow 0],
    rs = Union@(u /. rs);
    Sign[(-1)<sup>e=Exponent[p,u]</sup> Coefficient[p, u, e]] + Sum[
        k = 0;
       While [ (d = RootReduce [\partial_{\{u, ++k\}} p / . u \rightarrow r] ) == 0];
        If [EvenQ[k], 0, 2 Sign[d]] \star \theta[u - r],
        {r, rs}]
SetAttributes[B, Orderless];
CF[b B] := RotateLeft[#, First@Ordering[#] - 1] & /@
  DeleteCases[b, {}]
\mathsf{CF}[\mathcal{S}_{]} := \mathsf{Module}[\{\gamma s = \mathsf{Union}@\mathsf{Cases}[\mathcal{S}, \gamma_{]} | \overline{\gamma}_{}, \infty]\},
   Total[CoefficientRules[\mathcal{E}, \gammas] /.
       (ps \rightarrow c_) \Rightarrow Factor[c] \times Times @@ \gamma s^{ps}]
CF[{}] = {};
CF[C_List] :=
 Module[{\gammas = Union@Cases[C, \gamma, \infty], \gamma},
  CF /@ DeleteCases [0] [
      RowReduce[Table[\partial_{\gamma}r, {r, C}, {\gamma, \gammas}]].\gammas]]
(\mathcal{E}_{-})^{*} := \mathcal{E} / . \{ \overline{\gamma} \to \gamma, \gamma \to \overline{\gamma}, \omega \to \omega^{-1}, c_{-} Complex : \to c^{*} \};
r_Rule<sup>+</sup> := {r, r*}
RulesOf[\gamma_i + rest_.] := (\gamma_i \rightarrow -rest)<sup>+</sup>;
\mathsf{CF}[\mathsf{PQ}[\mathcal{C}, q_{]}] := \mathsf{Module}[\{\mathsf{nC} = \mathsf{CF}[\mathcal{C}]\},\
   PQ[nC, CF[q /. Union @@ RulesOf /@ nC]] ]
\mathsf{CF}[\Sigma_b \ [\sigma_, pq_]] := \Sigma_{\mathsf{CF}[b]}[\sigma, \mathsf{CF}[pq]]
```

```
Format [\Sigma_{b B}[\sigma_{, PQ}[C_{, q_{]}]] := Module [\{\gamma s\},
      \gamma s = \gamma_{\#} \& /@ \text{ Join } @@ b;
      Column [{ TraditionalForm@\sigma,
           TableForm[Join[
               Prepend[""] /@ Table [TraditionalForm [\partial_c r],
                    {r, C}, {c, \gammas}],
               {Prepend[""][
                    Join@@
                         (b /. \{l_{, m_{, r_{}}; r_{}\} \Rightarrow
                               {DisplayForm@RowBox[{"(", L}],
                                 m, DisplayForm@RowBox[{r, ")"}]}) /.
                      i_Integer \Rightarrow \gamma_i ]},
               MapThread [Prepend,
                  {Table[TraditionalForm[\partial_{r,c}q], {r, \gamma s^*},
                       \{c, \gamma s\}, \gamma s^*\}]
             ], TableAlignments \rightarrow Center]
         }, Center]];
The Face-Centric Core.
\Sigma_{b1} [\sigma1, PQ[C1, q1]] \oplus \Sigma_{b2} [\sigma2, PQ[C2, q2]] ^:=
    \mathsf{CF}@\Sigma_{\mathsf{Join}[b1,b2]}[\sigma 1 + \sigma 2, \mathsf{PQ}[c1 \cup c2, q1 + q2]];
                                                                          \overline{GT}_{ii}
GT for Gap Touch:
GT<sub>i_,j_</sub>@Σ<sub>B[{li__,i_,ri__},{lj__,j_,rj__},bs___][σ_,</sub>
      PQ[C_, q_]] :=
  \mathsf{CF} \otimes_{\mathsf{B}[\{ri, li, j, rj, lj, i\}, bs]} [\sigma, \mathsf{PQ}[\mathcal{C} \bigcup \{\gamma_i - \gamma_j\}, q]]
                           cor·don 4 (kôr'dn)
   i \mid i \mid
                                                                                         DICTIONARY
                                1. A line of people, military posts, or ships stationed around
                               an area to enclose or guard it: a police cordon.
                               2. A rope, line, tape, or similar border stretched around an
                                area, usually by the police, indicating that access is
                               restricted
                                                         use \phi_p to kill its row and
    \begin{pmatrix} 0 & \phi C_{\text{rest}} \\ \overline{\phi}^T & \lambda & \theta \\ \overline{C}^T_{\text{rest}} \overline{\theta}^T A_{\text{rest}} \end{pmatrix} \rightarrow \begin{cases} \exists p \, \phi_p \neq 0 & \text{column, drop a} \begin{pmatrix} 01 \\ 10 \end{pmatrix} \text{summand} \\ \phi = 0, \lambda \neq 0 & \text{use } \lambda \text{ to kill } \theta, \text{ let } s + = \text{sign}(\lambda) \end{cases}
                                    b=0, \lambda=0 append \theta to C_{\text{rest.}}
Cordon<sub>i_</sub>@\Sigma_{B[{li_, i_{,ri_}}, bs_{-}]}[\sigma_, PQ[C_, q_]] :=
  Module [ \{ \phi = \partial_{\gamma_i} C, \lambda = \partial_{\overline{\gamma}_i, \gamma_i} q, n\sigma = \sigma, nC, nq, p \},
    {p} = FirstPosition [ (\# = != 0) & /@\phi, True, {0}];
    {nC, nq} = Which[
         p > 0, {C, q} /. (\gamma_i \rightarrow -C[[p]] / \phi[[p]])<sup>+</sup> /. (\gamma_i \rightarrow 0)<sup>+</sup>,
        \lambda = ! = 0, (n\sigma + = sign[\lambda];
           \left\{\mathcal{C}, q / \cdot \left(\gamma_i \rightarrow - \left(\partial_{\overline{\gamma}_i} q\right) / \lambda\right)^+ / \cdot \left(\gamma_i \rightarrow 0\right)^+\right\}\right),
        \lambda === 0, \left\{ \mathcal{C} \bigcup \left\{ \partial_{\overline{\chi}_i} q \right\}, q / . (\chi_i \to 0)^+ \right\} \right];
```

 $CF@\Sigma_{B[Most@{ri,li},bs]}[n\sigma]$

 $PQ[nC, nq] / \cdot (\gamma_{Last@\{ri, li\}} \rightarrow \gamma_{First@\{ri, li\}})^{\dagger}]$

Strand Operations. c for contract, mc for magnetic contract:

TL[x:X[i_, j_, k_, l_]] := TL@If[PositiveQ[x], $X_{-i,j,k,-l}$, $\overline{X}_{-j,k,l,-i}$]; $\mathsf{TL}\left[\left(x:X\mid\overline{X}\right)_{f_{\mathsf{S}}}\right] := \mathsf{Module}\left[\{\mathsf{t}=\mathsf{1}-\omega,\mathsf{r},\,\mathsf{s},\,\mathsf{m}\}\right],$ $r = t + t^*; \gamma s = \gamma_{\#} \& /@ \{fs\};$ m = If x == X, $\begin{bmatrix} -r & -t & 2t & t^* \\ -t^* & 0 & t^* & 0 \\ 2t^* & t & -r & -t^* \\ t & 0 & -t & 0 \end{bmatrix}, \begin{pmatrix} r & -t & -2t^* & t^* \\ -t^* & 0 & t^* & 0 \\ -2t & t & r & -t^* \\ t & 0 & -t & 0 \end{bmatrix}];$ $\mathsf{CF} @ \Sigma_{\mathsf{B}[\{fs\}]} [0, \mathsf{PQ}[\{\}, \gamma \mathsf{s}^*.\mathsf{m}.\gamma \mathsf{s}]]$

Evaluation on Tangles and Knots.

 $TL[K_] :=$ Fold[mc[#1 \oplus #2] &, $\Sigma_{B[1}[0, PQ[{}, 0]]$, List @@ (TL /@ PD@K)] /. $\Theta[c_+u] /; Abs[c] \ge 1 \Rightarrow \Theta[c];$ TLSig[K_] := TL[K][1]

Reidemeister 3.

 $R3L = PD[X_{-2,5,4,-1}, X_{-3,7,6,-5}]$ X_{-6,9,8,-4}]; $R3R = PD[X_{-3,5,4,-2}, X_{-4,6,8,-1}],$ X_{-5,7,9,-6}];

TL@R3L == TL@R3R

True

```
TL@R3L
```

			-1			
	(Y ₋₃	87	Y9	Y8	γ_{-1}	
$\overline{\gamma}_{-3}$	$\frac{\omega^2 + 1}{\omega}$	$\omega - 1$	-2ω	2	0	
$\overline{\gamma}_7$	$-\frac{\omega-1}{\omega}$	0	$\frac{\omega - 1}{\omega}$	0	0	
$\overline{\gamma}$ 9	$-\frac{2}{\omega}$	$1 - \omega$	$\frac{\omega^2 + 1}{\omega}$	$-\frac{\omega+1}{\omega}$	0	
$\overline{\gamma}_8$	2	0	$-\omega$ – 1	$\frac{\omega^2 + 1}{\omega}$	$-\frac{\omega-1}{\omega}$	
$\overline{\mathbb{Y}}_{-1}$	0	0	0	$\omega - 1$	0	
$\overline{\gamma}_{-2}$	$-\omega$ – 1	0	2 ω	-2ω	$\frac{\omega - 1}{\omega}$	

Reidemeister 2.

 $TL@PD[X_{-2,4,3,-1}, \overline{X}_{-4,6,5,-3}]$

		0		
	1	0	- 1	0
	$(\gamma_{-2}$	¥6	γ_5	$\gamma_{-1})$
<u>7</u> -2	0	0	0	0
<u>7</u> 6	0	0	0	0
$\overline{\gamma}_{5}$	0	0	0	0
8-1	0	0	0	0

 $TL@PD[X_{-2,4,3,-1}, \overline{X}_{-4,6,5,-3}] = GT_{5,-2}@TL@PD[P_{-1,5}, P_{-2,6}]$

0...

/14

True

Reidemeister 1. $TL@PD[X_{3,3,2,-1}] = TL@P_{-1,2}$ True

A Knot.

$$f = TLSig[Knot[8, 5]]$$

$$2 \Theta \left[-\frac{\sqrt{3}}{2} + u \right] - 2 \Theta \left[\frac{\sqrt{3}}{2} + u \right] -$$

$$2 \Theta \left[u - \bigcirc -0.630... \right] + 2 \Theta \left[u - \bigcirc 0.63$$

Plot[f, {u, -1, 1}]

The **Conway-Kinoshita-**Terasaka Tangles. $T1 = PD[\overline{X}_{-6,2,7,-1}, \overline{X}_{-2,8,3,-7},$ X-8,4,9,-3, X-11,6,12,-5, X_{-4,11,5,-10}]; $T2 = PD[X_{-6,2,7,-1}, X_{-2,8,3,-7},$ $X_{-8,4,9,-3}, \overline{X}_{-12,6,13,-5},$ $\overline{X}_{-4,12,5,-11}, \overline{X}_{-10,15,11,-14}, \overline{X}_{-15,10,16,-9}];$

79

γ_2)

 $\omega + \mathbf{1}$

ω _ 2

1 – ω $\omega^2 + 1$

ω 0 2

=

$$-2 \Theta \left(u - \frac{\sqrt{3}}{2} \right) + 2 \Theta \left(u + \frac{\sqrt{3}}{2} \right) - 1$$

$$(\gamma_{-10} \qquad \gamma_9 \qquad \gamma_{-1} \qquad \gamma_{12})$$

$$\overline{\gamma}_{-10} \qquad \mathbf{0} \qquad \mathbf{1} - \omega \qquad \mathbf{0} \qquad \omega - 1$$

$$\overline{\gamma}_9 \qquad \frac{\omega^{-1}}{\omega} \qquad \frac{2\omega}{\omega^2 - \omega + 1} \qquad -\frac{\omega^{-1}}{\omega} \qquad -\frac{2\omega}{\omega^2 - \omega + 1}$$

$$\overline{\gamma}_{-1} \qquad \mathbf{0} \qquad \omega - 1 \qquad \mathbf{0} \qquad \mathbf{1} - \omega$$

$$\overline{\gamma}_{12} \qquad -\frac{\omega^{-1}}{\omega} \qquad -\frac{2\omega}{\omega^2 - \omega + 1} \qquad \frac{\omega^{-1}}{\omega} \qquad \frac{2\omega}{\omega^2 - \omega + 1}$$

TL[**T2**]

		0		
	$(\gamma_{-14}$	Y16	γ_{-1}	$\gamma_{13})$
\overline{V}_{-14}	0	$1 - \omega$	0	$\omega - 1$
$\overline{\gamma}_{16}$	$\frac{\omega - 1}{\omega}$	$-\frac{2 (\omega - 1)^2 \omega}{\omega^4 - 3 \omega^3 + 5 \omega^2 - 3 \omega + 1}$	$-\frac{\omega-1}{\omega}$	$\frac{2 \ (\omega - 1)^{2} \ \omega}{\omega^{4} - 3 \ \omega^{3} + 5 \ \omega^{2} - 3 \ \omega + 1}$
\overline{V}_{-1}	0	ω – 1	0	$1 - \omega$
$\overline{\gamma}_{13}$	$-\frac{\omega-1}{\omega}$	$\frac{2 \ (\omega - 1)^{2} \ \omega}{\omega^{4} - 3 \ \omega^{3} + 5 \ \omega^{2} - 3 \ \omega + 1}$	$\frac{\omega - 1}{\omega}$	$-\frac{2 \ (\omega - 1)^{2} \ \omega}{\omega^{4} - 3 \ \omega^{3} + 5 \ \omega^{2} - 3 \ \omega + 1}$





0

J	L,	L	в	1	T.	

	1	0		-1	0	<u>1</u> ω		0	$-\frac{1}{\omega}$	0
	0	0		0	-1	1		0	$-\frac{1}{\omega}$	1
	(Y-11	γ.	1	Y10	87	γ1	.4	Y-1	Y-5	$\gamma_{-8})$
\overline{Y}_{-11}	0	0		0	0	0		0	0	0
γ_4	0	0		0	0	<u>ω</u> -	12	0	$-\frac{\omega-1}{\omega^2}$	0
¥10	0	0		0	0	- <u>ω</u>	<u>-1</u> ω	0	$\frac{\omega - 1}{\omega}$	0
₹7	0	0		0	0	<u>(ω-</u> ω	L) ²	0	$-\frac{(\omega-1)^2}{\omega^2}$	0
$\overline{\gamma}_{14}$	0	- ((ω -	1) ω)	ω – 1	$(\omega - 1)^2$	0	1	$-\frac{\omega-1}{\omega}$	$\frac{\omega - 1}{\omega}$	0
\overline{V}_{-1}	0	0		0	0	ω –	1	0	$1 - \omega$	0
∀_5	0	(ω –	1) ω	$1 - \omega$	- (ω - 1) ²	² 1 –	ω	$\frac{\omega - 1}{\omega}$	<u>(ω-1)²</u>	0
∀_8	0	0		0	0	e	1	0	ø	0
TL	[<mark>B2</mark>]									
					0					
	(Y-12	Υ4	Υ8	Ŷ	14	γ11	Y-1	Υ-5	Υ.,	9)
Ÿ− 1 2	$\frac{(\omega-1)^2}{\omega}$	ω-1 -	2 (ω – 1)	<u>2 (</u>	<u>-1)²</u>	$\frac{2(\omega-1)}{\omega^2}$	0	$-\frac{2(\omega-1)}{\omega^2}$	- <u>(ω-1)</u>	<u>(2ω-3)</u> ω
$\overline{\gamma}_4$	$-\frac{\omega-1}{\omega}$	0	$\frac{\omega - 1}{\omega}$		9	0	0	0	e	,
$\overline{\gamma}_8$	$\frac{2(\omega-1)}{\omega}$	$1 - \omega$	$\frac{(\omega-1)^2}{\omega}$	$-\frac{(\omega-1)(2\omega-3)}{\omega}$		$-\frac{2(\omega-1)}{\omega^2}$	0	$\frac{2(\omega-1)}{\omega^2}$	2 (w-2)	<u>(ω-1)</u>
$\overline{\gamma}_{14}$	$\frac{2 (\omega - 1)^2}{\omega}$	0	<u>(ω-1) (3 ω-2)</u> ω	<u>3 (w</u>	- <u>1)²</u> -	$\frac{(\omega-2)(\omega-1)}{\omega^2}$	0	$-\frac{2(\omega-1)}{\omega^2}$	- <u>2 (w-2</u>	<u>) (ω-1)</u> ω
$\overline{\gamma}_{11}$	$-2(\omega - 1)\omega$	0 2	$(\omega - 1) \omega$	- ((ω - 1)	$(2 \omega - 1))$	<u>(w-1)</u> ²	$-\frac{\omega-1}{\omega}$	<u>2 (ω-1)</u> ω	2 (ω	- 1) ²
$\overline{\gamma}_{-1}$	0	0	0		9	ω – 1	0	1 - ω	e	,
\overline{Y}_{-5}	2 (ω - 1) ω	0 -	2 (ω – 1) ω	2 (ω -	- 1) ω -	$-2 (\omega - 1) \frac{\omega - 1}{\omega}$		$\frac{(\omega-1)^2}{\omega}$	- ((ω - 1)	$(2 \omega - 1))$
$\overline{\gamma}_{-9}$	$-\frac{(\omega-1)(3\omega-2)}{\omega}$	0 2	(ω-1) (2 ω-1) ω	- 2 (w-1) (2 w-1)	$\frac{2(\omega-1)^2}{2}$	0	$-\frac{(\omega-2)(\omega-1)}{\omega^2}$	<u>3 (</u>	1) ²

$$\begin{array}{cccc}
\begin{pmatrix}
A & B \\
C & U
\end{pmatrix} & \xrightarrow{\det(A)} & \begin{pmatrix}
I & A^{-1}B \\
C & U
\end{pmatrix} & \xrightarrow{1} & \begin{pmatrix}
I & A^{-1}B \\
0 & U - CA^{-1}B
\end{pmatrix}, \\
\text{so } \det\begin{pmatrix}
A & B \\
C & U
\end{pmatrix} = \det(A) \det(U - CA^{-1}B). \quad (\text{what if } \nexists A^{-1}?)$$

Questions. 1. Does this have a topological meaning? 2. Is there a "Kashaev conjecture" for tangles? 3. Find all solutions of R123 in our "algebra". 4. Braids and the Burau representation. 5. Recover the work in "Prior Art". 6. Are there any concordance properties? 7. What is the "SPQ group"? 8. The jumping points of signatures are the roots of the Alexander polynomial. Does this generalize to tangles? 9. Which of the three Cordon cases is the most common? 10. Are there interesting examples of tangles for which rels is non-trivial? 11. Is the pq part determined by Γ -calculus? 12. Is the pq part determined by finite type invariants? 13. Does it work with closed components / links? 14. Strand-doubling formulas? 15. A multivariable version? 16. Mutation invariance? 17. Ribbon knots? 18. Are there "face-virtual knots"? 19. Does the pushforward story extend to ranks? To formal Gaussian measures? To super Gaussian measures?

Proof of Theorem 1.

Uniqueness: If A and B are 2 pushforwards, then $\sigma_W(U + A) = \sigma_W(U + B)$ for all PQs U on W.

Thus $\mathcal{D}_A = \mathcal{D}_B$, because otherwise if $w \in \mathcal{D}_A \setminus \mathcal{D}_B$, by taking U(w) = 1 on $\mathcal{D}_U = \operatorname{span}\{w\}$, we get $\sigma_W(U+A) = 1 \neq 0 = \sigma_W(U+B)$. Furthermore, *A* and *B* must agree where they are both defined, because by taking $U(w) = \frac{-A(w) - B(w)}{2}$ on $\mathcal{D}_U = \operatorname{span}\{w\}$ we get $(U + A)(w) = \frac{A(w) - B(w)}{2} = -(U + B)(w)$, so we must have

A(w) = B(w) to satisfy $\sigma_W(U + A) = \sigma_W(U + B)$.

Existence: Define ϕ_*Q by $\mathcal{D}_{\phi_*Q} = \phi(\operatorname{ann}_Q(\ker \phi))$ and $\phi_*Q(w) = Q(v)$ where $v \in \operatorname{ann}_Q(\ker \phi)$. Note that ϕ_*Q is well-defined.

First consider when U = 0 on all of W. Let K be a maximal non-degenerate subspace of ker ϕ . Then $Q = Q|_K \oplus Q|_{\operatorname{ann}_Q(K)}$, and we can write $\operatorname{ann}_Q(K) = R \oplus A \oplus B$ where $R = \operatorname{rad}_Q(\ker \phi)$ and A, B are chosen so that $A \subseteq \operatorname{ann}_Q(R)$ and $B \subseteq \operatorname{ann}_Q(K) \setminus \operatorname{ann}_Q(R)$. Since $Q : R \to B^*$ is surjective, for any $v \in \mathcal{D}_Q$ there is some $r_v \in R$ such that $Q(r_v, B) = Q(v, B)$. If we choose the r_v so that $r_{v_1} + r_{v_2} = r_{v_1+v_2}$, then we can replace A by $A' = \{a - r_a : a \in A\}$ and B by $B' = \{b - \frac{1}{2}r_b : b \in B\}$ to get $Q = Q|_K \oplus Q|_{R \oplus B'} \oplus Q|_{A'}$. Then notice that

- $\sigma_V(Q|_K) = \sigma_{\ker\phi}(Q|_{\ker\phi})$
- $\sigma_V(Q|_{R\oplus B'}) = 0$
- $\sigma_V(Q|_{A'}) = \sigma_W(\phi_*Q)$
- so we get $\sigma_V(Q) = \sigma_{\ker\phi}(Q|_{\ker\phi}) + \sigma_W(\phi_*Q).$

Now for an arbitrary U, note that $(Q + \phi^*U)|_{\ker \phi} = Q|_{\ker \phi}$ and $\phi_*(Q + \phi^*U) = \phi_*Q + U$ so we can replace Q in the U = 0 case by $Q + \phi^*U$ to get the general case.

Proof of Theorem 2.

It's clear that pullback is functorial and that pushforward by the identity is the identity. To show $(\phi\psi)_* = \phi_*\psi_*$, use theorem 1 repeatedly to get

$$\sigma((\phi\psi)_*Q + U)$$

$$=\sigma(Q + (\phi\psi)^*U)$$

$$=\sigma(Q + \psi^*\phi^*U) - \sigma(Q|_{\ker\phi\psi})$$

$$=\sigma(\psi_*Q + \phi^*U) + \sigma(Q|_{\ker\psi}) - \sigma(Q|_{\ker\phi\psi})$$

$$=\sigma(\phi_*\psi_*Q + U) + \sigma(Q|_{\ker\psi}) + \sigma(\psi_*Q|_{\ker\phi}) - \sigma(Q|_{\ker\phi\psi})$$

$$=\sigma(\phi_*\psi_*Q + U)$$

for any U, where the last step uses theorem 1 on $Q|_{\phi\psi}$ with the map ψ : ker $\phi\psi \rightarrow$ ker ϕ .

To show $\alpha_* \gamma^* = \beta^* \delta_*$, first note that $\beta^* \beta_*$ is the identity on any PQ since β is injective, so

$$\alpha_* \gamma^* Q = \beta^* (\beta \alpha)_* \gamma^* Q = \beta^* (\delta \gamma)_* \gamma^* Q = \beta^* \delta_* \gamma_* \gamma^* Q$$

As $\beta^* \delta_* \gamma_* \gamma^* Q$ and $\beta^* \delta_* Q$ have the same values where they are both defined, it remains to show that they have the same domain. Since α is surjective and γ is surjective onto ker(δ), we see that

$$\beta^{-1}\delta(A) = \beta^{-1}\delta(A \cap \operatorname{im} \gamma)$$

for any subspace A. By taking $A = \operatorname{ann}_Q(\ker \delta)$, the two sides of the equality become the domains of $\beta^* \delta_* Q$ and $\beta^* \delta_* \gamma_* \gamma^* Q$.

References.

- [CC] D. Cimasoni, A. Conway, *Colored Tangles and Signatures*, Math. Proc. Camb. Phil. Soc. **164** (2018) 493–530, arXiv:1507.07818.
- [Co] A. Conway, The Levine-Tristram Signature: A Survey, arXiv:1903.04477.
- [GG] J-M. Gambaudo, É. Ghys, *Braids and Signatures*, Bull. Soc. Math. France 133-4 (2005) 541–579.
- [Ka] R. Kashaev, On Symmetric Matrices Associated with Oriented Link Diagrams, in Topology and Geometry, A Collection of Essays Dedicated to Vladimir G. Turaev, EMS Press 2021, arXiv:1801.04632.
- [Me] A. Merz, An Extension of a Theorem by Cimasoni and Conway, arXiv: 2104.02993.

Acknowledgement. This work was partially supported by NSERC grant RGPIN-2018-04350 and by the Chu Family Foundation (NYC).